Year 5 Homework, Autumn Term Week 11

Maths: Speedy Six
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53 + 42

What is 15% of 130?

What is the 8th prime number?

What is 4/7 of 567?

Six pencils cost £1.92. 3 pencils and 1 rubber
cost £1.21. What is the cost of 1 rubber?

Amira arrived at the bus stop at 13:46. The
buses stop at 18 minutes past the hour. How
long will Amira have to wait for the bus to
arrive? Write your answer in minutes.
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Keep practising your times tables.
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Please complete the reading comprehension ‘Twas The Night Before Christmas’.

/ S[gellings \ ﬂptional SPAG guestion (1 housepoint if completed\

Green Purple

careful elf Circle the possessive pronoun.

colourful elves

fearful leaf

doubtful leaves Nancy was very flattered and surprised that the
harmful wolf flowers were hers.

beautiful wolves
new grandad
knew baby

temperature home
signature car
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Homework is due in on 16" December



